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Modern translation

Question No.T

There are 80 fir trees of 55Unkaki \whose length is 2™,

When I change them on pines of 55Unkaku whose length is
1/°% demand the number of the pine.

Solution
216h0n

How to solve
First, it is 25™ when I square fir tree of 554"

Next, 25™ multiply by the number of fir tree equals
540000t"ubo.

I assume this a numerator.
Here, it is 2500854P2 \when I square pine of 554" and this

multiply 1/°% of the length.

Therefore, a numerator divide by this equals 216"°™".

Question No. 2

There is 8°%" in diameter of the cut end, the log of the pine
of 352" in length. But the price of 18 pines which one side is
5SUN  and have a length of 2%€™ for base is one gold.

The log has higher 25% price than squared lumber. Find the
price of the log.

Yuichiro Sakazume Tatsuki Komatsubara
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Quadrature of circle ratio
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solution

Silver 12Mmongbugring

How to solve
First , I squared 8°%" and multiplied that I divided 1t by 4.

Second, I squared 3%€™ and 1.25 to it. This is 188.496 and a numerator.

Particularly, I squared 554" and 2%€" and 18. This is 900 and a

denominator.
Then , itis 0.20944.

Gold 1779 equals 60 silver,
0.20944 squared 60silver. This is 12™Mon §bu gring

Question No.3

There are hundred 10™°" 055%™~ cm—thick fir’ s tree. When you
buy 8.8 7°4"— cm—thick

them, you need gold 1"Y°% At that time you solve the price of
hundred them.

Solution
16"Y%% oold coins and 18™M0nme gbu grin 4mougjlyer coins.

How to solve

8.8 pieces of wood of the fir tree multiply by 7°4" equals
6syaku15un6bu_

This divide by 10/Y9554" equals 167Y°%3149.
3149 take market price 60, and silver is demanded.
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HEZBIANE * The mathematical contents
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55 =25 (HOmE)
25x120=3000 (1ADKEFE)
3000xXx180=540000 (M2EDIERE)
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040000+2000=216
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Question No. 1

| demand the number of the pine when the volume of the whole fir tree
devide by the volume of one pine.

5 X 5 = 25 (The area of the fir tree)
25 x 120 = 3000 (The volume of the fir tree)
3000 x 180 = 540000 (The volume of the whole fir tree)

5 X 5 =25 (The area of the pine)
25 x 100 = 2500 (The volume of one pine)
540000 = 2500 = 216

Answer 216"°m

Question No.2

First, | demand price of pine log. | use % ,

82 x 0.7854 x 3 x 1.25 = 188.496

Next,| demand price of 18 pine wood.
52 x 2% 18 =900

Here, 18 pine wood is 1"Y°" gold coin. Therefore, price of log is
188.496 - 9 O O = 0.20944

1"YOU gold coin equals 60 silver coins. So,
0.20944 x 60 = 12.5664

Answer 12mongbugri,
Question No.3

There are hundred 10™°" (05°%™M. cm-thick fir's tree. When you buy
8.8 7°"M- cm-thick

them, you need gold 1"Y°% At that time you solve the price of hundred
them.

Solution
16"Y°% gold coins and 18™0nme gbu grin 4mougj|yer coins.

How to solve

8.8 pieces of wood of the fir tree multiply by 754" equals 65Yaku1sungbu
This divide by 10/Y°554" equals 16"Y°%3149.

3149 take market price 60, and silver is demanded.
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What isl Quadrature of circle ratio |?

Now, we usually use (radius)*Xx m when we demand the area of the
circle.

But also (diameter)? X % was used by people when the Edo period.

This % is called Quadrature of circle ratio. Therefore,

Quadrature of circle ratio equals 0.785398... .
Mainly, 0.8 and 0.79 was used.
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